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I  Continuation of ®n»»1 with source(s) for nxn nn% NXMY on the part of 3”03 and/or n
a Y™ (contra YRYnw ")
i (MW (v. 1) —refers to non-kin
ii ~ nn(ibid) — refers to kin
iii 1Ry var — exclusive to allow for nn NrMY for a NN NN
iv. vnRY —even if he is a »”n3 and 711 — he is still Xnvn for a NMxn nn
v IMNRY (as above) — even if he was on his way to bring nos 127p (e.g.), he isn’t Rnvn for his sister but is for nxn nn
1 challenge: how will ™ source the ruling that neither 3”73 nor 91 are banned from contact with y7¢my ar?
2 Answer: since he includes even a 3"n2 who is a 1’11 (under YnKR%) —just as a 111 may have contact with a ar...
3 Question: (HRynw 1) — how will he infer 3”n> who is a 7m1?
4 Answer: once the N n permits nkMY for a Mxn nn, why distinguish between violation of one 8% or 2 PRY?
vi  Challenge: why the need for ymnx?
1 Answer: we would think that violation of a 8% (3”12 or 1) is suspended for nxn nn, but not noa (n12) - Y"np
vii Challenge: (to ™) — why the need for both Ry ar?
1 Answer:
(a) If: the nmn only prohibited yax, we would surmise that he isn’t Xnv’n to his father, for his relationship
with his father is based on a npm (Yvan INR M1 117) and not on a certainty
(1) I would conclude: he is Rnvn for his mother
(b) If: the nmn only prohibited 1R, we would surmise that he isn’t Rnv’n to his mother, since his lineage
doesn’t follow her (as per v. 2)
(1) I would conclude: he is Xnvn for his father
viii Question: how does y™ interpret v. 3 (parallel passage in re: 3"n2)?
1 Answer:
(@) 93 Yy: bans nkmv for non-kin
(b) nn: bans nrMY for kin
(c) mwaia o7 Y7, even if from multiple corpses, is YnRa xnon
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